IBPS RRB PO Previous Year Question Paper- 2021

Directions (1-5): Study the following information carefully and answer the questions given below:

Ten persons sit around a circular table; all of them are face inside. Three persons sit between C and F. G
sits second to the left of F. Two persons sit between G and A who is not an immediate neighbor of C. L sits
immediate left of E, neither of them are immediate neighbor of A. B sits second to the right of K. D sits

third to the left of C who is not an immediate neighbor of H.

Aforied ST &1 eATIa® STeqTT hioT0 3f¥ A= (<0 T 47 o I S0

T FTH Tk AT W o A AL G6 8; o AT AR AT AT I@ 21 C i F F g da AR a5 81 G, F &
qT0 | gEL T 9T T3T 21 G 37T A o 19 31 =ARE 95 8, 57 C F7 Feheaq T2 981 81 L, E F & 910 927 8,
SHH " AT At A FT Feheqq 92 A6l g1 B, K % 30 § L T W AT 81 D, C & a4 & |y T4 9¢ 937
&, ST H &7 [Meheas 9t 72l &

Q1. How many persons sit between K and D, when counted from left of K?
K % 910 & =+ 9%, K 3% D & Hex fohad =i 95 87
(a) Four

R1AS

(b) Three

=

(c) Two

ar

(d) One

'QT:F.

(e) None of these

T | ATE TE

Q2. Who among the following sits third to the right of H?
fRerferfera & & 9 H % 270 | 18 €19 2 937 82

(@) B

(b)C

() E

(dK

(e) None of these

T | AT TE




Q3. Which of the following statement is not true about B?
et § & 19 97 F99 BF a § 97 751 27

(a) B sits second to the left of A

B A% 9T0 & gAY €T TT ST &

(b) B is an immediate neighbor of F

B F T sy 92t g

(c) The one who sits third to the right of B is an immediate neighbor of D
B % 1T | AL TATH I 937 =41k D FT Hehead 92T 8

(d) B is an immediate neighbor of the one who sits third to the left of E
B 39 A T<h & [Mehed® ST & ST E & 970 § T T4 9T 93T 8

(e) All are true

aft g g

Q4. Four of the following five pairs are alike in a certain way so form a group, which of the following does
not belong to that group?

frefere o= 79 # & = s At o & g9 2 afow uF a9z aqrq 8, et § 8 #4159 @92
o gaterd Tgl g7

(@)L, C

(b)B,A

(c)D,E

(d)H, L

(e)F,G

Q5. Who among the following persons sit second to the left of C?
Referfea & & 9-a71 2w C % 10 § L 79 92 937 82

() E

(b) L

()G

(d) B

(e) None of these

T | AT TE

Directions (6-9): In this question, relationship between different elements is shown in the statements.
The statements are followed by conclusions. Study the conclusions based on the given statement and
select the appropriate answer.

TH TT | FAAT | AT qeai & 1= Gae Fl 90T AT 8| FAAT 6 97 MR ([Hehrel 79 g1 &7 T F3q9 %
AT gT TSR 7 s1eae Ffory e 3= 39¢ &1 =999 i)

Q6. Statements/HI: X<W<0 =S >T<U>R=V
Conclusions/fAtHy:

I.S>V

IL. S=V

(a) Only conclusion I is true

(b) Only conclusion Il is true

(c) Either conclusion I or Il is true

(d) Both conclusions I and II are true

(e) Neither conclusion I nor Il is true




(a) Faet Aed [T 8

(b) Faer MR 11 9T &

(c) AT AT Ay [AT LI | B

(d) =t [ 3% 11 397 97 &
(e)Tar Aewd IR AT T

Q7. Statements/®I: A=E<F<G>L=M>H<B <K
Conclusions/fAty:

I. M>E

II. A>K

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or Il is true

(d) Both conclusions I and II are true

(e) Neither conclusion I nor Il is true

(a) Faet fAewd [oeT 8

(b) Faet = [ 9T 8

(c) AT ar Aewd [ AT [ 9T &

(d) A=t 1 &0 11 <90 |97 3
()T AeFT [ TS ITT G

Q8. Statements/®A: B<A=C<D<E >K=M>F
Conclusions/fAHy:

I. B<E

II. A>M

(a) Only conclusion I is true

(b) Only conclusion Il is true

(c) Either conclusion I or Il is true

(d) Both conclusions I and II are true

(e) Neither conclusion I nor Il is true

(a) o FFd [FT 8

(b) Fa= Aewd 19T &
()amarfAeFg Iam T &

(d) M=t [ 3% 11 39T 97 &

(e) T AeFT ISR AT I TT §




Q9. Statements/®¥: H<G=B<E<K>F=M>N=0
Conclusions/fAsHt:

I. H<E

II. O<K

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or Il is true
(d) Both conclusions I and II are true
(e) Neither conclusion I nor Il is true
(a) Fae ATy [ qeT 8

(b) Faer AR 11 9T 8

(c) AT AT Ay [AT LI | B

(d) =t [ 3% 11 39T 97 &

(e) AT AT [T A ST I AT &

Q10. If in the word ‘SNITCHED’ vowels are replaced its previous letter and consonant are replaced with
its next letter according to English alphabetical series, then how many letters are appeared twice in the
new arrangement?

7f% 952 'SNITCHED' #, SIS a0THTAT H@AT % ATAT SHeh €A i 3806 (Gegel e¥ § & [«dT SI1d7 ¢ AT
ST %1 THEF A AAT H Fa [<FT J7dT 8, T 72 ATeqT § Fohae 787 & a1 33

(a) One

'Q_cﬁ

(b) Two

(c) Three
LIk

(d) None
FI< TET

(e) More than three

o= & wfde

Directions (11-13): Study the following information carefully and answer the questions given below.
Six persons P, Q, R, S, T and U are of different weights. The 4th heaviest person weight is 64kg. Q is lighter
than only T. Two persons in between R and U, whose weight is 51kg. S is not heavier than P.

et ST FT ST ga® STeqa Hliory oY | &0 T0 347 o IqC QA1)
T ATHP, Q R, S, T ST U AET-3TRT AL o g1 AT TaOH AT SAT<h T AT 64 TRAT 81 Q, FdA T & Fae
ot g1 R 3T U o "eT a1 AT<h g, ot 912 51 TRUT 81 S, P & 91T 951 8l

Q11. How many persons are lighter than R?
s 1% R 5096 27

(a) Three

=

(b) Four
RIS
(c) Two

(d) None

FIE L

(e) One
'QT:F,




Q12.1f Q is 10kg heavier than P then, what is the difference between Q’s and U’s weight?
Tf2 Q, P 10 FoRUT AT €, AT Q 3T U & 91T § fohaeT 3fa¥ 82
(a) 32kg

32 o

(b) 21kg

21 frur

(c) 23kg

23 o

(d) 22kg

22

(e) 31kg

31 o

Q13. Who among the following person is just heavier than the one who is 2 lightest?
et 5 & F9 T 999 gos A Th | 3% 9 572

(@)s

(b) P

()R

(dT

(e)Q

Q14. Find the odd one out?
oy &7 =79+ oo

(a) AZ

(b) DW

(c) GT

(d) MN

(e)JP

Directions (15-18): Study the following information carefully and answer the questions given below:
Nine persons are selected in three different department of a company i.e Marketing, HR and Finance. At
least two but not more than four persons are selected in the same department.

U selects only with S, but not in marketing department. V and Q are selecting in the same department but
not with R. T selects in the marketing department. W and X select in the same department. R neither
selects in marketing not HR. P does not select in the same department as W. X selects neither in HR
department nor with P.

et ST FT LA ga® STeqa hIory oY J1= &0 TT 37 o IqLC QA1

T FHIAT & T S-S TR ST HIh (T, T 3T FIeAe | A7 AR 7 939 AT ST T@T 5| THh
of T T o 9 & 7 T AT AT & TTersh SARI T 43 Agl 3T ST &1 2l

U Fad S o I FAAT gIaT g, ATehed HTehiedT (oI T § dgil V 3T Q T Uk gt [T § =4+ 3T S1ar g ofepd
R & ATT AEI T FT FF HIH (I (AR H AT gl W ST X T UF &f [ T § 937 21a7 g1 R &7 7 a6 AThfesT |
FAT AT g 7 & TAA H| P FHT =99, W F FHH ART H A1 graT g1 X FT A 7 UAAR AW H X AST P
T 94 21T 2




Q15. Who among the following is selected in the same department
as X?

erferfad ® & oheeht X o J0T foram T § =9+ grar 82

(@P

(b) Q

(Vv

(d)R

(e)U

Q16. Which of the following statement is true about P?
e F T FT AT FIT P F < | 97 87
(a) P selects with R

PHFTIAA R F ATT ZrAT &

(c) P Select in Finance

(d) P T 93 w49 H graT &

(c) P Selects in Marketing

P T F99 ATH{eT H 2raT &

(d) P selects with U

PHRTFIAT U F AT BT g

(e) Both (b) and (c)

ZT (b) 3T (d)

Q17. Four of the following five pairs are alike in a certain way so form a group, which of the following
does not belong to that group?

erferfera oi= T § & = O [ 8 o 99 € THie U 7Y a9Td ¢, Mefertad § § i 39 wa9g
o gaterd Tgl g7

(a) P-X

(b) Q-T

(c) R-S

(d)u-v

(e) W-T

Q18. How many persons are selected in marketing department?
AT T # Fohaer si=edl &7 =73+ ot STrarT 872

(a) Two

ar

(b) Four

LS

(c) Three

LiG]

(d) Cannot be determined

et 78t FohaT ST Jehar

(e) Same number of persons selected in finance department
HTEAH AT ¥ FA=T SARAT & T ST




Q19. How many pairs of digits are there in the number ‘96825173’, each of which have as many digits
between them (both forward and backward directions) in the number as they have between them in the
number series?

AT '96825173' H i % U Fhaw 7w &, FOFH To & Hex gear § (3 oiT fiey Tt fRomett ®) 3aw &
3 ¢ Torae 9eaT J@aT § 39 HeT g 872

(a) One

'QT:F

(b) Two

&l

(c) Three

LIk

(d) Four

K8

(f) None of these

T | AL T

Directions (20-24): Study the following information carefully and answer the questions given below.
Ten persons M, N, O, P, Q, R, S, T, U and V go to the exam on different dates 11 and 16 of five different
months January to May but not necessarily in the same order.

O goes to the exam on 16t February. More than four persons go to the exam between O and S. The
number of persons go for the exam before S is the same as the persons go for the exam after P. V goes just
before Q in the same month, which has an even number of days. No one goes between P and M. T goes
just before N. U goes after R.

AT STl T &A@ STeae shitorar 3T = w70 st o 3 < for |

T AR- M, N, 0, P, Q, R, S, T, U 3fI¥ V I+ -3 He I SIS & HE #hl S T-3oT [ard- 11 3 16 Fr
TLTEAT & STl @ oA Tohe] ST&dT gl (oh G 5 F | 2|

0, 16 XA T TL&AT & forw SITaT 21 0 3% S o 1= =< 7 s7fark =rixe 93vear 30 g1 S & Uger UreT o S ATl
SITTRAT sl HEAT, P o T8 TRIEAT & ST aTel SARAT #hl H&AT & THTT gl V T0H Jaid § Q | 3t Tgel S1dT &,
S a9 Jear | R g1 P i M F i g i ST 21 T, N % & 92 et 21 U, R % 91 AT 2|

Q20. How many persons go for exam after V?
V % &g fehde = feh odtedt o ST &2

(a) One

'QT:F.

(b) Three

Gig

(c) Six

X

(d) Five

X
(e) None of these

BLGEIERE]




Q21. How many persons go between R and U?
R & U % e fohae o=k ST 872

(a) None

FIE TR

(b) Four

K8

(c) More than four

ELEEIPED

(d) Two

&l

(e) None of these

TH | A TE

Q22. Which of the following statement is true?
frforfera & & i9 |71 e g 827

I. Only two persons go between M and T

M 31T T o &= el &I 1<k SI1d &

IL. No one goes before S

S| Tgl Fls Al JATAT g

IIL. T goes on numbered date
T o gear &t /At wsmar g
(a) Both I 'and III

[ 3 11 T

(b) Only 111

Fa 111

(c) Both IT and III

I1 3T 111 3T

(d) Only 11

Fa I

(e) All I, Il and I1I

I, 11 37 111 =7+fy

Q23. On which date N goes for exam?
N forer fafer &7 98eqT & SITaT 872
(a) 16th January

16 ST

(b) 11th April

11 =19t

(c) 11th May

1192

(d) 16th March

16 914

(e) None of these

BLGEIERE]




Q24. Four of the following five are alike in a certain way and so form a group. Find the one who does not
belong to that group?

Freferfea o= & & =9 u [t a6 & a9 € & gafe uF ayg a9 g 98 IR0 S se a9 F "6 e
T &7

(@M

(b) N

(@S

(O

(e)Vv

Q25. If we form a meaningful word by the second, fourth, seventh and ninth letter of the word
‘WORKBENCH?”, then which of the following will be the third letter of the word thus formed. If more than
one word is formed mark Y as your answer. If no meaningful word is formed, mark X as your answer?

T2 g7 9158 'WORKBENCH' 3 TEY, AT, 9Tdd ST A1d AT § U Y07 &7e% a1 &, a7 6 Th1< I 763 T
T AT Aot § § 9 97 R TS T & A8 958 a9d g af J9497 I Y % & | <J1ord| T Hhre

AT 9163 Al 99T &, AT AIAT 3L X % & H <A1
(@o
(b) X
(AN
(d)Y
(e)K

Directions (26-30): In each of the questions below are given some statements followed by some
Conclusions. You have to take the given statements to be true even, if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or II follows.

(d) If neither conclusion I nor II follows.

(e) If both conclusions I and II follow.

Directions (26-30): F1= 3T T T4 T § T FIF 3T IHh A1 T (MY (&T U | AT QT TT FHAAT
T T HIAAT €, 9 g1 F Ga=Tq a1 & {9« 7 gra gl ot fewt 1 afzw siv fhe q= fifsy & fiw o
Aewul & & I A7 Aoy a8 9 F G T 00 92aTg 60 @41 70 T 997 7 qiiehd &9 8 a0
FLAT B

(a) FTT Faer e [ TTaC0T FEaT gl

(b) T2 Faer AR 11 SATHTT FaT 2|

(c) Tf =T a7 fAoh 1 A7 11 a2 F2ar g

(d) Tf T a7 Ao [ =i 7 & 11 STH<0T AT g

(e) 7t Ao [ 37T 11 ST SITE0T el 5l




Q26. Statements:

All Litchi are Mango

Only a few Mango are Orange
Only a few Orange are Papaya
Conclusion:

I: All Papaya being Mango is a possibility
II: Some orange is Litchi

Hq:

T =T AW E

A

I: it 9Ty o | g i 91T
II: T aq< A= g

Q27. Statements:
Only a few Cat are Rat
No Rat are Horse

All Horse are Dog
Conclusion:

I: Some Catis Dog

II: No Dog is Cat

Y

FAT T el 95 &
FTE TRT AT G &
aeft e

R

I 7 e 5 &

II: %< FaT faedt el &

Q28. Statements:

All Dream are Night

No Night is Star

No Dream is Sweet

Conclusions:

I. Some Star is Dream

II. Some Sweet is Night is a possibility
g

Ot =TT 8

F1E T Ry ST &

TS T AL AN &

Ao

1. e R T &

I1. F e o Td gl o0l GEATaAT g




Q29. Statements:

Only a few Table are Chair

All Chair are Book

Only a few Book are Pen
Conclusions:

I. All Table being Chair is a possibility
IL. All Book being Pen is a possibility

Hq:

FA T 7S LT &

T AT T &

A %, Tedeh FTH o

Ao

1. FTT TST o T g ol GATAAT S

IL T TFaahi o FHAH g ol GATAAT 8

Q30. Statements:

No Blue are Black

No Black is Brown

All Brown are Violet

Conclusions:

I: All Blue being Violet is a possibility
II: Some Blue is not Brown

ERCH

TS ok ATST ARl

aft e AT

IO F

I: TfY = F ATINE BT T FATAAT
II: T s ATST el &

Directions (31-35): Study the following information carefully and answer the questions given below.
Seven persons A, B, C, D, E, F and G take different fruits Apple, Apricot, Banana, Grapes, Guava, Litchi and
Papaya (but not necessary in the same order) on different days of the same week starting from Monday.

B takes fruit on Wednesday. Two persons take fruit between B and A, who takes banana. The number of
persons take fruit after A is same as the number of persons take fruit before E, who takes Papaya. G takes
fruit just before D, who takes Grapes. C takes fruit two days before the one who takes Litchi. Both F and G
are not taken Apple. F does not take Guava.

Directions (31-35): RHCI&d ST HT eqTYE S STeqAT hitord 3T A= 30 T0 31 o6 3L <A Tor |

AqTq ARE- A, B, C, D, E, F 3T G THATE § [F gl UF ol A81g & AeN[-3oNT [adl § e, GaTe!, T, 303,
THES, ATAT 3T THAT (AR ST Al ToF THIT FH7 | gT) TAT-3TT B G 2

B FEAT &l el @TAT gl B 3T A, ST el @TAT &, % HeT &I ATk Fed GTd g1 A & I8 ®ef @I a1l SAT<hAT ahl
HEAT, E & 98 el @A ATl SARAT ol GE&AT o THIT &, ST I91ar @1a1 gl G, D, ST 3 @TaT &, & o1 98l Fel
FTaT g1 C A= @1 el | &7 a7 Tgof @rar o1 gl F o G I91 99 dgi @Td &1 F s\%a 981 @rar gl




Q31. Who takes ___ on Friday?
eI T &l
(a) D, Grapes

D, ¥¥

(b) F, Banana

F, e

(c) E, Apple

E,&a

(d) G, Litchi

G, S1=1

(e) None of these

TH | HE TE

Q32. Who among the following takes Apricot?
Aforted & & 9 gaT oar a2

(@)C

(b) B

()G

(d) Either (a) or (c)

T AT (a) AT (c)

(e)F

Q33. Which of the following information is not correct?
Referfad & & #19 @f TEaT det Tal 87
(a) A - Saturday

A- afHET

(b) B - Litchi

B- =T

(c) F- Friday

F- AT

(d) C- Monday

C- FHa

(e) D- Grapes

D- sre

Q34. How many days gap between A and the one who takes Litchi?
A 3 =T @1 ATt SR o ot o fo AT s 82
(a) Two

£l

(b) Four

LS

(c) More than four

| ATTH

(d) One

'QT:F

(e) None of these

BLGEIERE]




Q35. B 31T A & &= el @1 aTel SAThAT 3l T&AT ___ A F o S ek GTH a7l SFARAT il HAT F THH 57
(a) A

(b) C

(QE

(d)G

(e) None of these

TH H ATE TR

Directions (36-40): Study the following information carefully and answer the questions given below.
In a certain code language:

“exam is mandatory for all” is coded as “pq wr ty mr cg”

“easy exam is here” is coded as “yr wr pq ks”

“good for mandatory exam” is coded as “gt ty mr wr”

“good exam for all” is coded as “gt wr ty cg”

Directions (36-40): fRerferiad STa=rTet 7 eqmaqa steaa= oy o7 = faw 70 3ot % 39 Al
U A8 Fe 9T H:

“exam is mandatory for all” T “pq wr ty mr cg” % ¥ H Fieag [T J1aT 8

“easy exam is here” &I “yr wr pq ks” & &9 ¥ Feag a1 S1aT 8

“good for mandatory exam” & “gt ty mr wr” & &9 § Fiea g a1 AT g

“good exam for all” & “gt wr ty cg” % ¥ H Fiea g [T JTdT &

Q36. What is the code for “good exam” in the given code language?
2T TS Fie AT H “good exam” & T e 7T 22

(a) pqwr

(b) cg gt

(c) mr wr

(d) gt wr

(e) None of these

BLGEIERE]

Q37. The code “cg” is coded for which of the following word?
T “cg” T FAwterteaa # 7 fohe 91e * o0 Feag AT 82
(a) Mandatory

(b) here

(c)all

(d) exam

(e) None of these

TH H ATE TR




Q38. What is the code for “here” in the given code language?
2T TS Fe ATIT H “here” & o0 747 %2 872

(a) ks

(b) cg

(c)yr

(d) gt

(e) Either (a) or (c)

AT (a) 47 (c)

Q39. If “tuff exam easy” is coded as “wr ks ft” then what is the code for “merit is here”?

7fT “tuff exam easy” FT “wr ks ft” & &9 # Fizag [6JT STTAT 2, AT “merit is here” FT % 4T T2
(a) sq pq ks

(b) yrwrcg

(c) ks gt pq

(d) yr pq sw

(e) None of these

T ATE TR

Q40. The code “ks gt” is code for?
Fe “ks gt” ToheTeh forT e 87

(a) for easy

(b) here for

(c) good here

(d) easy good

(e) Can’t be determined

et Agl oAt ST |ehd T

Direction (41-46): What will come in the place of question (?) mark in following number series.

Aoforied Jear ga@ar § wI=e (?) % T 9% 347 SAT0T?

Q41.1005, 1000, 985, 960, 925, ?
(a) 895
(b) 890
(c) 880
(d) 870
(e) 875

Q42.8, 10, 23, 73, ?, 1491
(a) 307
(b) 302
(c) 293
(d) 295
(e) 297




Q43.4, 8, 35, 51, 176, ?
(a) 212
(b) 222
(c) 202
(d) 204
(e) 206

Q44. 500, ?, 250, 750, 187.5,
(a) 1000

(b) 500

(c) 250

(d) 125

(e) 1500

Q45. 44, 46, 50, 58, 74, ?
(a) 96

(b) 116

(c) 108

(d) 106

(e) 104

Q46.88, 99, 92, 97, 94, ?
(a) 98

(b)92

(c) 96

(d) 102

(e) 100

937.5

Directions (47-51): Bar graph given below shows number of pages typing by five (A, B, C, D & E)
different people on two (Monday & Tuesday) different days. Read the data carefully and answer the

questions.

== f=m 97 I ATE 9= (A, B, C, D 3H¥ E) -3 SATAIT ZIT &1 SAT-3eT f3A7 (FI9aTE 3 HeraT)
H =129 5T T gt AT ST AT 97T 5| SEST A ATIAH ATAT o0 3T T7 6 I Qo |

80

70
60
50
40
30
20
10

0

A B C D E

B Monday ™ Tuesday




Q47. Total number of pages typed by B & E together on Monday is what percent more than total number
of pages typed by C on Tuesday?

HHa #T B ¥ E g7 e area fhu 71 q9i &t o §ed1, Fear &1 C g7 239 &0 1w g8 it 39
AT & TR wiaerd stfere 872

(a) 64%

(b) 80%

(c) 90%

(d) 96%

(e) 60%

Q48. Find the approximate difference between the average number of pages typed by A, C & D on
Monday and total number pages typed by A & E together on Tuesday?

AT &7 A, C &fiT D g7 2129 U 70 g8t & sf|d §eT T 5aa 7 A S E 1T 2129 &0 70 e 78i
#T AT & A1 AL (FFTHIT) ST T

(a) 65

(b) 72

(c) 68

(d) 62

(e) 56

Q49. Find the ratio of total pages typed by C on both given days to total pages typed by D & E together on
Tuesday?

2t 2w o R § ¢ gy avey By T et qut 7 @eeraTe # DS E g 2y R 0 et gut & sara
EISETIEL

(@) 56:55

(b) 55:54

(c) 55:58

(d)55:56

(e)55:62

Q50. If total pages typed by B on Wednesday is 37.5% more than that of Monday and total pages typed by
E on Wednesday is 6 more than that of by B on Wednesday, then find total number of pages typed by E on
Monday, Tuesday & Wednesday together?

I3 FEA FT B FT 2159 0 T A T8, FHATE w1 B 51T 2127 {60 70 Fof 79 6T o471 H 37.5% ATF &
T G T E 1T 2129 30 0 o7 T8, G %7 B 51T 2729 B 0 q87 i %7 §ear & 6 A74 &, ar
AT, FIAATE AT AT 1 THATT E T 2129 0 70 G897 6T Fof ST AT ity

(a) 174

(b) 172

(c) 176

(d)178

(e) 170




Q51. Total pages typed by B, D & E together on Tuesday is how much more or less than total pages typed
by A & C together on Monday?

HIAAT & B, D 3 E g1 Maa< 2129 (70 10§ I8, HHa & A 3T C T 0o 212q 70 10 %o 7891
o Toha oTTere a7 i 8?2

(a) 32

(b) 44

(c) 34

(d) 36

(e) 38

Direction (52-56): Table given below shows total number of students (males and females) in three
different colleges and number of students (males and females) speak French out of total students in each
college. Read the data carefully and answer the questions.

Note - Student in each college speak only either French or German.

College Total males Total females Students speak French
A 120 80 112
B 160 120 160
C 192 168 224

Direction (52 - 56): 1= ¥ T qToraT I STAT-3TRT FHierolt § Fram<=i (2o < Afgarst) i Fo dear
S T it § et e & & ¥ arer aror et (e i wfgersi) fi e Fr gatdr 21 sinst
FT &ATIE e TR0 i faw 7w wait & 3=9e S

IE- T4 el & (Al Faet %= J1 76 aerd 2|

st T [T RIESIR L EIRREICAECIR
A 120 80 112
B 160 120 160
C 192 168 224

Q52. Iftotal females speak French from B is 72, then find difference between total males

and females speak German from the same college?

T B | A a7 aTetl AIgad T3l sl Hed G&AT 72 8, AT THIT HictsT § STHA Jreae arel TRUT 3T ATga T3l sl HieA
AT o A1 FAqC AT hIToT0?

(a) 24

(b) 36

(c)32

(d) 16

(e) 40

Q53. If 62.5% of total students speak French from C are males, then find the difference between total
females speak French from C and total students speak German from A?

T C & A T a1l A [SAATTHAT H F 62.5% TET 8, AT C & T A ATAT A HIgeATH 3T A H STHA Aol
T e TARTTAT & A1 AL AT o072

(a) 2

(b) 4

()6

(d)8

(e) 12




Q54. If 70% of total females from B speak French and 32 of total
students speak French from A are females, then find total males
speak German from B are what percent less than total males speak
French from A?

T B Y et AT § & 700% ST A1 § AT A Fe A AT e
fertei=i & & 32 wiganu g, a1 o7 Siorw & B & ST Jad are $
T A H T ST a1l el TRUT | Tohae STaerd 7 82

(@) 0.5%

(b) 5%

(c) 2%

(d) 1%

(e) 0.25%

Q55. Find ratio of total students speaks German from all the three colleges together to total males in A &
B together?

Tft T FiersTt | AT STHT T AT T (=TT 7 A S B H e £ TeUl § ST ST shiforu?
(a)41:35

(b) 35:43

(c)43:37

(d)43:35

(e)43:33

Q56. The ratio of female speaks German to French from C is 4 : 3 and total females speaks German from
college M are 24 less than total males speak French from C. If ratio of total males to females speaks
German from college M is 4 : 5 and there are total 480 student in college M, then find total number of
students speak French from M (Student in college M speak only either French or German)?

C & STHA FTeA ATAT AigeATAl T S AT ATeAT AlgeATsl | QAT 4:3 8 T Fferst M 8§ STHA FieAe ATl A
HIZATH HersT C | 5= el aTed &1 61 FoT H&AT | 24 FH g1 T2 FHietst M H STHT Fre a1t THUT T Afgara
q AT 4:5 € T Fiast M H Fot 480 fo=rmeff €, ar M | W= averw arer fa=mteiat it g1 " 1 it
(FiersT M o fa=rmeft sheaer S A1 ST+ aed 8)?

(a) 168

(b) 192

(c) 212

(d) 172

(e) 182

Q57. Circumference of a circle is 88 cm and radius of the cylinder is % of the diameter of the circle. If

height of cylinder is 12 cm, then find the volume (in cm 3 ) of the cylinder?
T I ! TITS 88 HHT g 3T o i =T, a?r%amran‘rzé’l T I T HATe 12 FHT 8, T oA 7 aaa

(T3 /) ST Fforo)
(a) 16638
(b) 16632
(c) 16648
(d) 16378
(e) 16366




Q58. A & B invested Rs. 4200 and Rs. 4000 respectively in a business and after six months B withdrew
Rs. 500 from his initial investment. If after one year the profit share of B is Rs. 3000, then find the total
profit?

A ST B 9 U a9 § FHM: 4200 FIF 37T 4000 07 7 Horer Bram o =g 7219 F 918 B F 310+ Y9+
ferer & 500 =9 Ao o form) afs uF auv & T AN g Aol v | B T FT 3000 T €, AT HA ATH
T e

(a) Rs. 6360

6360 FTF

(b) Rs. 6160

6160 =9X

(c) Rs. 6560

6560 FTF

(d) Rs. 5960

5960 FTX

(e) Rs. 6320

6320 FTX

Q59. Six years hence the ratio of age of A to B will be 5 : 6 and present age of A is 24 years. Find how
many years will take by B to getting age of 39 years?

g a9 AT A ST B T 31 T ST 5:6 T 3 A ¥ IAT 3 24 T g1 F7q hiforg f B &1 39 a9 it o1y
T 3 H ot o 7 997 SR

(a) 3 years

399

(b) 6 years

6 Y

(C) 10 years

1099

(d) 9 years

99y

(e) 12 years

1299

Q60. Pipe A and pipe B together can fill the tank in 24 minutes, while pipe A, pipe B and pipe C together
can fill the tank in 30 minutes and Pipe B and Pipe C together can fill the tank in 60 minutes. In how many
minutes pipe A alone can fill the same tank completely.

92T A i 9127 B THE* & F7 24 99 & 9 9 8, Safeh 9127 A, 9129 B 3f¥ 9129 C e &F &1 30 e
H AT qhd & A 9129 B 3T 9127 C T & &l 60 A § 9 T 8| TTST A 3Thel IHT & &l Fohad (91 |
T HY HHAT 22

(a) 40

(b) 120

(c) 80

(d) 60

(e) 100




Q61. B is 20% less efficient than A, who completes a work in 72 days. C alone can complete the same
work in 60 days. If all three started working alternatively starting with A and followed by B and C

respectively, then find in how many days the work will be completed?

B, A & 20% FH FTAFAA g, ST U F13 &l 72 &A1 & THTE FLaT g1 C 3Tohed SHT 1 &l 60 F&AT § FAT T
AT 1 AT AT HALT: A H O Fd g0 UHIAL T 8 Hd HIAT AFT HLd @ ST IHeh 918 FHHLA: B 3 C FF
FAT 0% A &, AT AT S0l ToTT Toh T Tohael (ol § THTH gT SATUIAT?

(a) 20 days

20 fa=

(b) 30 days

30 faw

(c) 36 days

36 fa

(d) 72 days

72 &=

(e) 64 days

64 fa

Q62. Train A crosses a man running in opposite direction in 16 seconds. Speed of man is 18 km/hr. and
speed of train A is 72 km/hr. Find length of train A (in meters)?

27 A faodig e # 3te 8 v =1fRe #r 16 Tk ® U FAT g1 =t ¥ i 18 ey st € siw e A v wfa 72
et /5eT 81 27 A it et (e ®) s1q e

(a) 280

(b) 360

(c) 480

(d) 600

(e) 400

Q63. A man sold a table at 33% profit after allowing a discount of 5% on it. Had he sold the table at
marked price, then he would have earned Rs.420 more profit. Find cost price of table (in Rs.)?

T SAT<h o Tah 0T 5% %l Ge o o TAT 33% ATH T2 a1 T a S Fl sitehd JoF I a=dT, Tl 39 420 =99
STTersh AT gIaTl 7T 31 77 o AT i (F9F §)?

(a) 6000

(b) 7200

(c) 6600

(d) 7800

(e) 8400




Q64. Deepak invested some amount on SI out of Rs.47000 and rest amount on C.I. for two years. If S.I. is
offering 12% p.a. and C. L is offering 15% p.a. compounding annually and C.I. is Rs.532.5 more than S.I,,
then find amount invested by Deepak on C.I?

ZTF 7 47000 0 H H, IT FUT 6 (1T g LT FTLTIOT ST 92 AT AT 1 Tohe Ty sATST 92 THaer &in| 7f
T FATSTT e T AT SATS sl aT 129% TT T 37T Tohgfeg AT il 3¢ 15% Wi a9 g ¥ awdia
STST, ATETOT SATS & 532.5 ¥0% {4 2, AT 0 g7 Tohd (e 4TS U2 (Ha9r it T ga=rier J1a shiford|

(a) Rs.23000

(b) Rs.22000

(c) Rs.21000

(d) Rs.25000

(e) Rs.24000

Q65. A vessel contains mixture in which 25% is water and rest is milk. If 40 liters more water added in
vessel, then quantity of water becomes 40% of mixture. Find the quantity of milk in the vessel?

T T4 | 25% THT 2 3T A9 g8 81 i3 aa § 40 e stterew art foer &= sru, av ot & wrar feor
FT 40% BT SITURT| I § & T qTAT AT o0

(a) 1001

(b) 1401

(c) 1601

(d) 1201

(e) 80 1 https://www.freshersnow.com/

Q66. A bag contains 8 red balls, 5 green balls and 7 black balls. If two balls are drawn from the bag
randomly, then find the probability of getting exactly one red ball.

TS ST § 8 AT W, 5 ¥ e 3T 7 FIeAT A gl AR a7 § & I A< ATl & F Aawreft It €, a7 2k v
AT T ITH I T ATIAHAT AT iUl

(@5
(b) =2
©=
()5

(e) None of the above.

TAH | HIE RN

Q67.40% of ‘X’ is equal to 30% of ‘y’. If average of x & y is 30 more than x, then find 75% of the ‘y’?
X' T 40%, 'y' % 30% % I gl TS x < y T 9, x T 30 ATF 8, AT 'y FT 75% TG o0l

(a) 180

(b) 150

(c) 240

(d) 210

(e) 360




Q68. The difference between CI earned in two years and SI received in 3 years on the sum of Rs. 2000 is
Rs. 205. Find the rate of simple interest for the 3rd year if the rate of interest for the first two years is 15%
on both CI and SI? (S.I. of 3 year is more than C.I. of 2 year)

2000 %, ¥99 T A 9T 2 a9 H ITH Fohg 5 5370 < 3 TG § TTH AT AT

AT 205 g AR FAHG (e SATST ST ATATIOT AT JAT I¥ g T FUT o o7 ST 3¢ 15% €, T

T a9 o To7T |Temor sATT it &< SATq hiTorT] (3 W T ATLTI0T 4T, 2 T o Ahe (o AT

q 7t 2)

(a) 12.5%

(b) 10%

(c) 15%

(d) 5%

() 115%

Q69. A boat can cover certain distance in upstream in 16 minutes and the same distance in still water in
12 minutes. Find the time taken by boat to cover same distance in downstream.

Te T Ueh (A {20d g1 &0 &2 & Tl 16 e 3T a6 g0 &1 ofd 5 § 12 e

T T HHAT g1 &M & SATHA THIT G aF e o oI 919 17 o =1 967 79 At
(a) 8 minutes

8 e

(b) 9.6 minutes

9.6 free

(c) 10 minutes

10 e

(d) 8.8 minutes

8.8 e

(e) 9.4 minutes

9.4 fi=e

Directions (70-74): study the given information carefully and answer the questions.

Total 1000 students appeared in three (GMAT, CRE & CAT) different exams. Some students appeared in
single exam, while some appeared more than it. 20 students appeared in all three exams. 150 students
appeared in more than one exam. 200 students appeared in only CAT, while 280 students appeared in
only CRE. 40% of total students appeared in CRE.

Number of students appeared for both GMAT & CRE but not CAT is equal to number of students appeared
for both CAT and CRE but not for GMAT.

2T TS AR T SATIAT FLTAT HIO1T ST T o 3L AT

F 1000 T 9 (GMAT, CRE =¥ CAT) fafsrs afiearsti # sufRaa 2 21 = a1 U a0eT § 3ufeerq
TU, AT T ST (e H ITTEAT B gl AT TeATA | 20 1 ATHA 21 g1 T & S(fersh a4eqren § 150
T SUTET B 21 el CAT | 200 =T IURAT B1d &, % 280 T Fat CRE | ST 21 &1 T St
FT 40% CRE ¥ ST 2raT gl

GMAT 3fiT CRE TET @(fehe CAT & foIT q51 SUfeId g aTel Sral &l 6T, CAT ¥ CRE THT «fhd GMAT &
T F51 SUTRad g9 aTer YT sl H&AT & aaT gl




Q70. How many students appeared in only GMAT & CAT together?
FaT GMAT 3 CAT H U fhaw g1 3ufead gul

(a) 20

(b) 30

(c) 50

(d) 40

(e) 10

Q71. Total students appeared in only GMAT exam are what percent of students appeared in only CAT
exam?

FaA GMAT TET&T § IUTEAT B AT T G, el CAT TLIEAT § ITTRAT ZIF AT FTAT T feha AT ATqerd g2
(a) 140%

(b) 150%

(c)175%

(d) 165%

(e) None of these / TAH & FIs AG!

Q72. What is the ratio of students appeared in both GMAT & CAT exams together to students appeared in
all three exams?

GMAT 3T CAT IHT TLeATH § THATT ITRAT F AT BIAT T AT TLEATH H AT i AT A1 &
AT FohaeT 272

(a) 3:2

(b) 2:3

(c) 3:5

(d)5:3

(e)5:2

Q73. Students appeared in GMAT exam are what percent more than students appeared in CAT exam?
GMAT TeT § IUfRera g1 arer |1, CAT TEeAT | IUTRd gie arel et | fohaer srfarera srfers 27

(a) 40%

(b) 85%

(c) 33.33%

(d) 12.5%

(e) 56.67%

Q74. How many students appeared in only one exam?
Tohae T ol Uk AT § 39T gid 67

(a) 860

(b) 870

(c) 850

(d) 830

(e) 84




Directions (75-80): In the following questions there are two equations given. You have to solve both the
equations and give answer:

(a)ifx>y

(b)ifx<y

(q)ifx=y

(d)ifx<y

(e) if x =y or relation between x and y cannot be established
fArforfera st ® a1 TR fU 1w €)1 et ST FHTEOT R g AT § S I <A1 8
(@ afTx>y

(b)afzx<y

() afxx>y

(d)yafzx<y

(e) afE x = y AT x 3f¥ y & 1= Haeg TTioq A1 FFaT ST Tt

Q75.1. x* +4x-12=0
IL 2y +7y+6=0

Q76.Lx%+12x+35=0
ILy?+9y+20=0

Q77.Lx%*-15x + 54 =0
ILy?- 23y +132 = 0

Q78.1.x2-13x+42=0
ILy2—15y+56=0

Q79. 1. x=3512
IL y2 = 64

Q80.L.2x2+7x+3=0
IL2y? + 12y +18 =0

Solutions (1-5):




$1. Ans.(b)
S2. Ans.(c)
$3. Ans.(d)
S$4. Ans.(e)
S5. Ans.(b)

$6. Ans.(e)
Sol. I. S>V (false) IL. S=V (false)

S7.Ans.(e)
Sol. I. M>E (false) II. A=K (false)

$8. Ans.(a)
Sol. I. B<E (true) II. A>M (false)

S9. Ans.(d)
Sol. I. H<E (true) II. O<K (true)

$10. Ans.(a)
Sol. Given word- SNITCHED
Sol. After applied given condition- TOHUDIDE

Solutions (11-13):
T Q R P S U

64 51

S$11. Ans. (a)
$12. Ans. (c)
$13. Ans. (b)

S$14. Ans. (e)
Sol. Except JP all the first letters are reversed to second letter.

Solutions (15-18):
Persons | Department
Marketing
Marketing
Marketing
Marketing
Finance
Finance
Finance
HR

HR

nioxXm s 3o I<|T




$15. Ans.(d)
$16. Ans.(c)
$17. Ans.(b)
$18. Ans.(b)

$19. Ans.(d)
Sol.

96825173
|

L —

Solutions (20-24):

Month | Dates | Persons
January 11 P
16 M
February 11 R
16 0
March 11 T
16 N
April 11 \%
16 Q
May 11 8]
16 S
$20. Ans. (b)
$21. Ans. (c)
$22. Ans. (a)
$23. Ans. (d)
S24. Ans. (e)
$25. Ans. (c)
Sol. ‘HONK’
$26. Ans.(a)

Sol.

(Orange




$27. Ans.(c)
Sol.

$28. Ans.(b)
Sol.

$29. Ans.(d)
Sol.

$30. Ans.(a)
Sol.

Solutions (31-35):

Days Persons Fruits
Monday C Apple
Tuesday E Papaya

Wednesday B Litchi
Thursday G Guava

Friday D Grapes
Saturday A Banana
Sunday F Apricot

S$31. Ans. (a)
S$32. Ans. (e)
$33. Ans. ()
S34. Ans. (a)
$35. Ans. (d)




Solutions (36-40):

Word Code
Exam Wr
Is Pq
Mandatory Mr
For Ty
All Cg
Easy/here Ks/yr
Good Gt

$36. Ans. (d)

$37. Ans. (c)

$38. Ans. (e)

$39. Ans. (d)

$40. Ans. (e)

$41. Ans.(c)

Sol. Pattern of series -
1005 - (5% 1) = 1000
1000 — (5 x 3) =985
985 — (5 x5) =960
960 — (5 x7) =925
925— (5 x9) =880

S42. Ans.(e)

Sol. Pattern of series -
8x1+2=10
10x2+3 =23
23X3+4+4=73

73 X4 +5 =297
297 X5+ 6 = 1491

$43. Ans.(a)

Sol. Pattern of series -
4+22=8

8+33=35
35+42=51

51 +53=176

176 + 62 =212




S$44. Ans.(b)
Sol. Pattern of series -

500 x1=>500
500 =2 = 250
250 x3 =750
750 -4 =187.5

187.5 x5 =937.5

$45. Ans.(d)

Sol. Pattern of series -
44 +2 =46

46 +4 =50
50+8=58

58+ 16 =74

74 +32 =106

$46. Ans.(c)

Sol. Pattern of series -

Addition and subtraction of consecutive prime numbers
88+11=99

99-7=92

92+5=97

97 - 3=94

94 +2 =96

$47. Ans.(b)
Sol. Total number of pages typed by B & E together on Monday =48 + 42 = 90

Required percentage = 905_050 x 100 = 80%

$48. Ans.(a)

Sol. Average number of pages typed by A, C & D on Monday = 72400444

=59 (approx.)
Total number pages typed by A & E together on Tuesday = 64 + 60 = 124
Required difference = 124 - 59 = 65

$49. Ans.(d)

Sol. Total pager typed by C on both given days =60 + 50 =110

Total number pages typed by A & E together on Tuesday =52 + 60 =112
Required ratio=110:112=55:56

$50. Ans.(a)
Sol. Total pages typed by total pages typed by E on Wednesday = 48 X % +6=72
Required sum = (42 + 60 + 72) = 174




S$51. Ans.(c)

Sol. Total pages typed by B, D & E together on Tuesday = (54 + 52 + 60) = 166
Total pages typed by A & C together on Monday =72 + 60 =132

Required difference = 166 - 132 = 34

$52. Ans.(a)

Sol. Total students speak German from B = (160 + 120) - 160 = 120
Total females speak German from B =120 - 72 =48

Total males speak German from B =120 - 48 =72

Required difference = 72 - 48 = 24

$53. Ans.(b)
Sol. Total females speak French from C = 224 X Z = 84

Total students speak German from A = (120 + 80) - 112 = 88
Required difference = 88 - 84 = 4

S$54. Ans.(a)

Sol. Total males speak French from A=112 - 32 =80

Total males speak German from B =160 - 120 X % =76

80-76 « 100 = 0.5%

Required percentage =

$55. Ans.(d)

Sol. Total students speak German from all the three colleges together
=(120+80-112) + (160 + 120 - 160) + (192 + 168 - 224)

=88+ 120+ 136

=344

Total males in A & B together = 120 + 160 = 280

Required ratio = 344 : 280

=43:35

$56. Ans.(b)
Sol. Total females speak German from college M = (224 - 168 X %) -24=128

Total students speak German from M = 128 + 128 X % = 288
So, total number of students speak French from M =480 - 288 = 192

S$57. Ans.(b)

Sol. Given, 2nrr = 88

r=14 cm

ATQ -

Radius of cylinder = 14 x 2 X % =21cm

Required volume = % X 21X21%X12=16632cm3




$58. Ans.(a)
Sol. Profit ratio of Ato B= (42 x 12) : (40 X 6 + 35 X 6)
=28:25

Given, 25 =3000

(28+25)

So, total profit = X 3000 = 6360 Rs.

$59. Ans.(d)
Sol. Age of A six years hence = 24 + 6 = 30 years

So, age of B six years hence = 30 X g = 36 years

Present age of B=36 - 6 = 30 years
Required years = 39 - 30 = 9 years

$60. Ans.(d)

Sol.A+B ==~
24

A+B+C=—
30

1 _As5_ 1
© 30 24 120 120
Pipe ‘C’ is an outlet pipe which can empty the tank in 120 minutes.

1
B+C=—
60
1 1 2+1 1
B=—+—=—=—
60 120 120 40
1
A+B=—
24
1 1 53 2 1

T 24 20 120 120 60
Pipe ‘A’ alone can fill the tank completely in 60 minutes.

$61. Ans.(d)
Sol. Let the efficiency of A = 5x units/day

So, the efficiency of B = 5x X % = 4x units/day

Total work = 72 X 5x = 360x units
360x

60
Total work completed by all three alternatively starting with A and followed by Band C respectively, in

three days = 5x + 4x + 6x = 15x
360x

The efficiency of C = = 6x units/day

Required days = o X 3 =72days
S$62. Ans.(e)

Sol. Let length of train - A be x meters.
ATQ,

X 5

x =400




$63. Ans.(a)

Sol. Let cost price of table be Rs.100x.

So, selling price of table = 100x X % = Rs.133x

And, marked price of table = 133x X %50 = Rs.140x

ATQ,
140x — 133x = 420
x = 60 Rs.

Cost price of table = Rs.100x = Rs.6,000

S$64. Ans.(c)
Sol. Let amount invested by Deepak at C.I. be ‘Rs.x".
So, amount invested by Deepak at S.I. = Rs (47000 - x)

Now,
Equivalent rate of interest of 15% C.I. for 2 years =15 + 15 + 15X 15 _ 32 25%
ATQ,
X% 32.25 (47000 -x)x2x 12 _ct3)c
100 100

32.25x + 24x =1181250
x=21000 Rs.
$65. Ans.(d)
Sol. Let total mixture in vessel be Q liters.
Initial quantity of water in vessel = 0.25Q
And, quantity of milk in vessel = 0.75Q
ATQ -
0.25Q+40 _ 40

0750 60
15Q + 2400 =30Q
15Q = 2400
Q=1601
Quantity of milk in vessel = 160 X %50 =1201
$66. Ans.(d)
Sol. Possible cases = (1 red ball & 1 green ball) or (1 red ball & 1 black ball)

. o _ 8X5  8X7
Required probability = 200, + 200,
4 28

BRECRET
_ 48
e




S$67. Ans.(a)

Sol. ATQ, 40 X — = 30 X -
100 100

y—x=060.......(i0)
From (i) and (ii)

y=240

75% of second number=180

$68. Ans.(a)

Sol. Let the rate of simple interest for the 3 year be x% per annum.
Total S] = 2200 15 X2 | 2000x xx 1

100 100
= Rs. (600 + 20x)

R R
CIforZyearszP(1+—)(1+—)—P

100 100
= 2000 (1 + 15 ) (1 + 15 ) 2000
B 100 100
= Rs 645
ATQ,

= 600+20x-645=205
= 20x=250=>x=12.5%

$69. Ans.(b)

Sol. Let speed of boat in still water= x km/min
Speed of stream = y km/min

And distance = D km

ATQ
(x—y)l6 =12x
x =4y
Let Required time be “T’ min
ATQ
12x =T(x+y)
T =222 9.6 minutes
5y

Solutions (70-74):
Students appeared in exactly two exams = 150 — 20 = 130
Students appeared in CRE exam = 14700 x 1000 = 400

[400—(280+20)]

Students appeared in only CRE & GMAT = Students appeared in only CRE & CAT = 50

Students appeared in only GMAT & CAT = 150 — (20 + 50 + 50) = 30

Students appeared in CRE = 280 + 50 + 50 + 20 = 400

Students appeared in CAT = 200 + 50 + 30 + 20 = 300

Students appeared in only GMAT = 1000 — (50 + 280 + 50 + 20 + 30 + 200) = 370
Employees using GMAT =370 + 50 + 20 + 30 = 470




$70. Ans.(b)
Sol. Students appeared in only GMAT & CAT = 30

S$71. Ans.(e)
Sol. Required percentage = % X 100 = 185%

$72. Ans.(a)
Sol. Required ratio = 30: 20 = 3:2

$73. Ans.(e)

Sol. Required percentage = o2

300

X 100 = 56.67%

S$74. Ans.(c)
Sol. Students appeared in only one exam = 370 + 280 + 200 = 850

$75. Ans.(e)

Sol. Lx*+4x-12=0

x*+6x-2x-12=0

X=-6,2

IL2y*+7y+6=0

2y +4y+3y+6=0

2y (y+2)+3(y+2)=0
-3

y=_2'?

=~ No relation

$76. Ans.(d)
Sol.I.x* +12x+35=0
x*+7x+5x+35=0
(x+7)(x+5)=0
~x= —=50r—7
ILy*+9y+20=0
y?+5y+4y+20=0
(y+5)(y+4)=0
y=-5-4

>x <y

S$77. Ans.(b)

Sol. . x*- 15x + 54 =0
x*-9x-6x+54=0
(x-9)(x-6)=0
~xXx=9o0r6
ILy?-23y+132=0
y?-11y-12y+132=0
(y-11)(y-12)=0
y=110r 12

wx <y




$78. Ans.(d)
Sol.I.x2-7x-6x+42=0
X(x-7)-6(x-7)=0
x-6)(x-7)=0

x=6,7
ILy2-8y—7y+56=0
yy—-8)-7(y-8)=0
v-8)(y-7)=0
y=8,7

So, x <y

$79. Ans.(c)
Sol.I.x=+8
I.y=48
So,x2y

$80. Ans.(c)
Sol.1.2x2 +7x+3 =0
Sx(2x+1)+32x+1)=0
=>x+3)2x+1)=0

1

S>x=-3—-
2

IL 2y2+12y+18=0
y2+6y+9=0
=>Wy+3)(y+3)=0
=>y=-3

SX2y




